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Which utility has similar capabilities to VSE Recorder?
Response:

A. VSE Manager

B. Server Console

C. Service Manager

D. Service Image Manager

Answer: D

Which components are part of the Service Virtualization architecture?
(Choose three)
Response:

A. Service Virtualization Registry

B. Service Virtualization VSE Server

C. Service Virtualization Workstation

D. Service Virtualization Coordinator Server
E. Service Virtualization Deployment Service

Answer: A,B,C

You have installed and configured Service Virtualization Workstation on a computer that does not have
a Service Virtualization Server installation. After you log in for the first time, you are prompted to
specify:

Response:

A. A portal that is running on the local computer

B. A Broker that is running on the local computer

C. An Enterprise Dashboard on a remote computer

D. A Registry URL that is running on a remote computer

Answer: D
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The match type setting controls how service virtualization compares an incoming request with the
requests in a service image. Which match type options are supported?

(Choose three)

Response:

A. Fuzzy

B. Exact

C. Specific
D. Signature
E. Operation

Answer: B,D,E

To deploy a virtual service using the VSEManager CLI, which artifact is required?
Response:

A. A raw traffic file

B. A Model Archive (MAR) file

C. A Virtual Service Image (VSI)
D. A Virtual Service Model (VSM)

Answer: B

For virtual service deployment, supported deployment methods include:
(Choose three)
Response:

A. The LISA Invoke API 2.0

B. VSE Manager Eclipse Plug-In

C. The VSE Manager command-line tool

D. The Service Manager command-line tool

E. The Service Image Manager command-line tool

Answer: A,B,C
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Where does virtual service execution occur?
Response:

A. In the Registry

B. On the Simulator Server

C. On the Coordinator Server

D. In the Virtual Service Environment (VSE)

Answer: D

Which statements about Service Virtualization properties are TRUE?
(Choose two)
Response:

A. Properties are always local to the model

B. Existing properties can be used in property expressions

C. If you reference a property that does not exist, the model will abort

D. Properties can be used and defined within elements of a workflow model

Answer: B,D

To set extract data from a response and set a property, you would use:
Response:

A. Filters

B. Data sets

C. Subprocesses
D. Configurations

Answer: A

Why might you run multiple Virtual Service Environment (VSE) servers?
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(Choose two)
Response:

A. To stage multiple instances of Test Runner

B. To act as load generators during performance testing

C. To divide the workload when many virtual services exist

D. To achieve the desired throughput to support performance testing

Answer: C,D
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